5.1 Rational Graph
Properties



Find the domain for each of the rational functions below.
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A discontinuity is basically a bYea'K \h 4“ 3VMPI’)/C*0WMIH

How do you find discontinuities?
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State the domain for each function. State any discontinuities and
identify any asymptotes.
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Vertical Asymptotes Ex: f(x) = L ))('{:2
Vertical asymptotes ( ‘\DY\ (‘CW\O\L@LQ/ ) X2

appear in the denominator of a simplified rational
function. These vertical lines are written in the form
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Horizontal (Behagg}'al) A%yet'l!}&\)’t\eew Ex: f(x) =

To find a horizontal asymptote of a graph of a rational

function, compare the degree of the numerator (m) equ vdé\'ﬂk‘bl]

with the degree of the denominator (n).
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graph has no horizontal asymptote.
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coefficient of the numerator (a) by the leading

coeffnuent of the denominator (b).
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= | State the domain for each function. State any discontinuities and
\ identify any asymptotes.
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To find x-intercepts:

ot the top of The SWNPLIFKED funckion
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To find y-intercepts:
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\ Find all x and y-intercepts for each function.
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